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No calculator

1.

There are 11 passengers on a bus.
8 passengers get on the bus.
No one gets off the bus.

How many passengers on the bus now?

Noah has 5 chewy sweets.
He buys another packet of 12 chewy sweets.

How many chewy sweets does Noah have now?

Diya has 13 fairy cakes in a tin.
She opens another packet of 6 fairy cakes and puts them in the tin.

How many fairy cakes does Diya have in the tin altogether?

There are 2 late students waiting outside the school gate.
16 students arrive at the gate from a late bus.

How many late students are there altogether at the gate now?

Andrew is making a pattern with coloured tiles.
He uses 11 red tiles and 3 blue tiles.

How many tiles is this altogether?

There are 16 passengers on a bus.
At the next stop 3 passengers get on the bus, and no one gets off the bus.

How many passengers on the bus now?

Answers 1) 19 2)17  3)19  4)18  5)14  6) 19
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